AP Procalevlus  FRQ#1 Key J035

AL  hx)= g(F)
h(N=9 ()= 15
(1) ="q (1.15)= -0.167(1.75)*+ (115)™ 1.834

h()= 0.3334
() 47'(3s)=0
B() 9(0=0

y==1.233,x=1.57¢, ¥= 5.043

(w) x“->"30 g(x) = -

L(1)) The best model for function £is
exponeﬂtial.

(i) The output valves of £(x) change
proporfionally by 0. foctor of
Vo over equal lengtih inpur=valve
intervals
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AL) D)= at?+bt+c
D(6)= 45= O*a+O-btc = C= 45
> 44 +db+d5=30

D(3) = 30 = P +db+C
D(Uz\=34 . 430 + Ab+C = Lo+ 4o +35 = 34

(u'/) &: —O.J(QS
b= J.75
c= 4
B(i) AROC= D()-D(0d _ 34-d5 = T _ 335 thousad
4 -0 4-0 - %'grys

(i) Aot=1.5 months
DO)=395  D(.5)=7
AlD) = mt +b

A(£)=4.25t +3I5
A(1:5)=2.35(1.5)+45 = 48.315 hovsand plays

(W) ALs< D15, since D&) is

D)

increasing ot o decreasing
rade and s concave  down. O(O Al)
On the interval of O<t<H, ;

the Secant Jine ALY lies .
below tae curve of D(t).

o o 2



APPL FRQ # ol Key (cont)
C.

( ”)40.@5)
D(+)="0.135t2+. 15 +39 & p5)

DO)=g5 minimwm of D 0.35)
DUN=40.125  moaxmum of D

Since DE) s concave  down

A maximun valie is attodned

ot t=1l. The number ot plays
will not dearease, so domauu
restrictons o the boundary

of D shovld be 0t <l months,
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A . Points not W\I‘Cbue/ anSWer= AL
= (0,9) A= sin[H0TT (£ F0)]
6 (5%, 0) i ~ %6
T (ks (- dsin[teoCt - 55}
K (35 ,0)
p (5103 ) 4) ht)=a Sin 400TF(’C+C)}
- N NEY 400T|-<O+C>=Q-
O % e o]t
-3 T =
C: 30 7 Ry %O“lei%_
i-0 C=- <o

C(DOn (4, ts) h is negative and decreasing

(LL) On inferval G,J) (1, ta) the groph
of h is concave up and the rute
of chonge of h is negdive and
Inereasing.



AP Procalewlvs  FRQHA Key J035

ALY g09=aqlogax x>0
ol 10g3%= 4
\095)( = )
r=1
(W) hd = 4eos?x [D,”T/a]
4 opsty = 3
COSEX =

B J0O=1092X+3 loga 2
= 10ga.x + 095 8

i ‘M&
b
tan x(csc;‘x ) tanx(oot3x)

= (0 taAA_X - (o'taf’\ x
tany

C. MmG)=et*-g*-12

eP*-e¥~1d=0 /”8" {=0 € 437
e*-4)(eX+3) =0 0" =3
(&2 /\4 x£IN3)

x_;llr\él

( W) K(x)=
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